Equal 9 step grey scaling betweeb* g4n=3.6 andL* y,\w=95.9, Yoref=3.6, normalisation whiteW

L*0ane3.6,L*0am49.8,L%0an=96.0, Yoan=0.4, Yoam18.2, Yoaw=90.0, Coay=Yoaw Yoan=225.0
L*taN=23.2,L*tau=53.0,L*taw=96.0, Yian=3.8, Ytau=21.0, %ian=90.0, Gay=Ytaw: Ytan=23.4
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps

g* = 100 PL* min] / [AL* max], L* cleLaB = 116 [Y/Yn]¥/3 - 16 with Y >= 0,882,Y,=100

g%= 99, g¥y= 99 g%= 51, g%y= 40 g%= 91, g%= 89
L*cieLaB  intended output real output linearized output
n0.i L*0a L*Or YOa YOr ;L*a AlL*a L*r Yta (L*tr) 113 L*la Al*la
1007 (Mo 90 120 90 10! 9%.0 10 900 1.0 96.0
: 11.0 8.6
8 844 0875 649 072 84.9 0.848 659  0.881 87.3
: 10.9 8.9
75T (7 729 075 450 049 740 0.698 46.7  0.759 785
: 10.7 9.2
6 613 0.625 29.6 0.326 63.3 0551 32.0  0.633 69.3
: 10.3 9.4
50T @5 498 05 182 0199 530 0.409 21.0  0.504 59.9
: 9.7 9.6
@+ 382 0375 102 011 432 0275 133  0.372 50.2
: 8.7 9.6
25+ @3 267 025 50 0051 345 0.156 8.3 0.24 40.7
: 6.9 8.9
.2 152 0.125 19 0017 27.6 0.061 5.3 0.118 31.7
: 45 8.6
oL @1 36 00 04 00 232 00 38 0.0 23.2
YoaitYoref

* o = = ! normalisation: Yiajw=Y,
AL*oF115  (=1,2,..8) | taiw =Yoawy 02T C0rel

eep20-3n



